% 0.7-0.71 o A4 Aute} g AL

@D 0.06 ® 0.06 3 0.07 @ —-001 G -01i



azbd o, o

jille

% REOh 0 S B D2

@ a-32b-3 @ = +a>7+b
® -a+3>-b+3 @—%az—fb

B 3a-1>3b-1



o5 AP A F (1, -2) E A2 2= A2 BF St
@ 2x+y=0 © 3x=2y+4
X
©§+§——1 ® 2(x+y)+1=-x
@ 2y+3=-x ® 4x=y+5
BE
[=]

g




U
ol

J|J
A

3x—2y=4

@ Ox2+0Ox2

D Ox3+0

@ Ox3-Ox2

® Ox3-0©

® Ox2+0Ox3



@ {
® {

~ o~ o~ o~

1 = A
x ¥y |x y= BT

x, y)|2x—y=3¢% E%x,y}



6.

Azpety 2T = (-1, 1), (1, 5) =
ot et

Jd==o] 71 &7&

s
-

A o o] 12

|E

o

ol,
O,






o|J

@ RPASE BE G257} ot









4\ 4 c
11. (Qy) _ B o uxpec o] g 2atolat,

- — =
axb 27x6

e e
c



12.

WO 712, N2 o] Zol7t 242} 2a, 3a Q] 2-STAA| Q] Fu]7} 124 -
24a’b 21l & o, Eo]=?

@ a-2b @ a-4b ® 2a-2b

@ 2q - 4b B 2a — 24b



13. x710, 1, 2, 3, 4, 54 o, 554 —2x4+7 > -5x+ 169 &
“Fotoigt,



14. o2 5 2549 si7F vy A] Yl g2 sk

1
D 3x-1<14 @ -x+2>-3 ®3x—3<—2

@ —x+7<2 ® 4x <15+ x



Q52 Aot A o]7F AFA] 100 Y = dolt}, 1A, g £olo
1500 ¥ 91 Fuet gt ool 2000 € Q1 HAHES 2 oS AMA 2

So] a1 ghch, TAHE|7E 3000 9 of, A4 10000 Y
o2 ZFulE ] & Fol 4 5 =7k

@ 0%0] @ 1%9] @ 2%0]

@ 3&0] B) 44&0]



Hel
o=

ge

Hir mE

Zol7t 12em 9 AHZBA Wol7k sdem? 4] B4 stel
Qnt o]0 sof sh=A] Fatelet.

o

cm



17.

e
e
e

100m




Fed=t.

I

a9 e T



o
=

7F (-2, 2) ¥ ™, b-a] F

of
el

8

ax—y =2, 4x+ by




20. (ab®)?>xa'b? =a* € W, x+y 9] &S Fotoi=t

>R
=%



3x+5>8x-22<

A

i



22,

Sh5ole} 7ol ZHZE Bl A v 15 Lofl 10000 ¥, 12000 ¥
Fokal v 30 Lol 25000 ¥, 20000 Y& AlF et @A sHsolet

=3
S0l o] B 7} ZF2F 70000 , 100000 DL wf S} ] o] Fefo]
7ol 9] dlglHt wolzl= A2 9 /Y FRE Q1A oot

R e



23. FH (-2, 3), (2 4) FAY= AL FEACl mx+ny-14=0 4
o, m +n °] gh= Fskoiet,

e =
c



24, e AxpHrA Aol T LI} A (4, 2)

2x+ay-6=0

@ (1,-4)
@ (4,2)

® (3,-1)



o_e



26.

o2 237t x+ay+ b = 09 22 0,
228 729

-

®a<0,b>0 @ a>0,b>0

@ a=0,b>0 ® a>0b=0

yl\

N

o] N

® a>0,b<0

T



@ 2 ® 3 @ 4 ® 5

D1



the A1 B 0 ©] obd 54t a,bc.d.e O] TS FEHA?

abcde — ab _ 13665

O-abcde = —55560 = 99900

@D 15 ? 16 ® 18 @ 21 3 25




® 5 B 6 @ 7 B 8

A 4



30. o2 AA POl g2 (Hha#b+c)

a b c
T la-ba-0)  b=9b-a)  (c=a)c=b)
D 0 2 1 3 2 @ 3



31. 254 60-9 < 3(x—3) - 205 WESHE x| 3k B4 714 2
57 2 o, 44 0 0] 3he] HARE?



: 2

StE x @y o ge] HI7b 1

29

T
o, A= a o] 4t

OE]

@ 3 B 4

1



33.

E39 Zo]7} 1km ¢ 93
A2 gt BigFo 2 FAlo) &
SWstH 12 &

o] gt

rOl' mE:‘ l m

(A7} B Ht} ®h2rhal Strt J

@ A:
@ A:
® A:
@ A:

® A —

875
m/,

j;zm/—ﬂ:’

—

865

Zom/E,

B:

B:

B:



